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Class: I Sec: ….                                                Max.Marks:10 

Date: 28.01.2018                                            Time:30 min 

Name: …………………………..                                             Roll No:……… 
 

I. Choose the correct answer.                 ( 4 x ½  = 2 )  

1. Number that comes before 80  

a) 81        b) 79  c) 78  d) 82 

2. 9 tens and 3 ones make  

a) 92       b)  91  c) 39  d) 93 

3. Number that comes between 75 _____ 77 

a) 76        b) 78  c) 79  d) 74 

4. The biggest number among 51, 62, 73, 84 is   

a) 51       b) 62  c) 73  d) 84 

II. Fill in the blanks.                            ( 4 x ½  = 2 ) 

1. The number name of  96 is __________________________. 

2. The sign of subtraction is ___________________________. 

3. 6 tens =  _________________. 

4. 10 – 1  = __________________. 

 

 

             INDIAN SCHOOL DARSAIT 
              TERM II - JANUARY 2018 
                    PERIODIC TEST 2 
                     MATHEMATICS 

 
 

                       



ISD/PT 2/ Class 1(AF)/ Mathematics/2017-18                                                                                           pg - 2 
 

   

III. Do as directed         (4 x 1 =4) 

1. Rearrange the following in increasing order. 

    54 ,             65 ,            47 ,           82 

___________________________________________ 

2. Rearrange the following in decreasing order. 

 86 ,               83 ,            82 ,              87 

              ____________________________________________ 

3. Subtract:                                                                           4. Subtract: 

 

                                                                                                                                                    

 

 

  

 

 

IV. Solve the following.                                                                              (1x 2 =2) 

1. John’s mother kept 17 biscuits in his bag. He ate 5 among them.  

How many are left?  

 

 

 

 

 

 

Ans ______________________________ 
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